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1.  Onthebasis of the ‘Buddhist Monastery’ and 1. N8 & ‘dig 78 3R WP W & IER
e ‘Ashoka Stambha’ of Bairath, the major W IERYFE @ g o @ THE WH
Chlaces of Buddhism in Rajasthan were - 9 —

‘cﬁ(l) Bairath, Lalsot, Shergarh, Nagari (1) <o, dIeNE, IS, TN
égg; Badnztlltlgar, As;:;;ra, 'Bhuri,(];haislllana @) aeire, s G AT
Bairath, Jodhpura, aneshwar,
Baleshwar 3) w, kNl '
(@) Lata, Viratnagar, Ahirwala, Nagaur (@) ome, fRTeTR, AfgRarr, iR
2. Match List — I with List — II & select the 2. ¥A-1 3R GE@-I 1 gAfera g T
answer from the code given below — T Ry g 6e ¥ & SR BT TEA
List—-1I List -1 DY —
(A) Babai @) Ajmer -1 -1
(B) Taragarh (i) Udaipur (A g€ (@) SR
(C) Achalgarh (iii) Jaipur (B) TRFg () TER
D) Jarga (iv) Sirohi (©) EeTe (i) SR
Codes - D) =0 v) RRE
A B C D BE —
(» i i i iv A B ' D
2 i i iv i Q) i i ii iv
@ iv i i @ & i i
_ o . 3)iv i i i
@ i iil iv il @ i i iv i
3. Match List — I with List — II and select the 3. @I 3R YA &I FAfod <@ A9 Qg
correct answer using the code given below — TQ FHe F G SR gihe —
List—1I List—11 -1 -\Iyﬂ_n
Origin of River IH W KEll
river (A) @R B (@) idel
(A) KhamnorHills (i) Kantli BRI
(B) BairathHills (i) Sabi (B) m G)
(C) KhandelaHills (iii) Banas © wWRAMH () g
Saver Hills (iv) Banganga TEThel .
®) £ang D) R P (iv) SR
Code - gETiet
&we -
AR e D A B C D
@ 1 m o v @ i i il iv
2 i v 1 ) iii  iv i ii
@ iv  #i i ii 3 iv i i ii
@i i i iv @ a i v
10- 2% Page 2 of 32




s

4. According to census 2011, the correct 4. SIFFIVMT 2011 & IFHR, Il H GaifEH
ascending order of districts with highest total Bl SHEEl qre el a1 |8 SRS HH
population in Rajasthan is - g -

(1) Nagaur, Alwar, Jaipur, Jodhpur (D) TR, SfeldR, SAYR, SHgR
(2) Alwar, Nagaur, Jodhpur, Jaipur (2) IR, TFIR, SR, TR
(3) Nagaur, Alwar, Jodhpur, Jaipur (3) R, AR, THR, TIR
(4) Jaipur, Jodhpur, Nagaur, Alwar 4) TG, @Hg? AFIR, 3R

5.  The “All India Jat Mahasabha” session was 5. 1925 ¥, “affgel YRAY WlE HERMT" &

held in 1925 at - e ST ga —
(1) Sikar - Kudan (1) PR — T
(2) Churn — Malsisar @) o — TN
(3) Iaipur —- Chomu (3) SR — 9
() Ajmer — Pushkar (4) ISR ~ TR

6. Which of the following district has no river 6. f=faRad § ¥ fg R § @ < waE

flow? &l &7
(1) Jaisalmer (1) SR
(2) Bundi (2 €&
(3) Bikaner 3) R
(4) Dholpur (@) eﬁa—ﬂ_‘?

7.  For popularising the ‘Jodhpuri Safa’ credit 7. ‘ShUQH WT6T P URIE B B AT @l
goes to - g -

(1) Maharaja Kesar Singh (1) HeRTaT B (¥
(2) Maharaja Jaswant Singh (2) VBRI S g
(3) Maharaja Udai Singh (3) HERT 9g f¥E
(4) Maharaja Sumer Singh (4) werreT gae g

8. On which part of the body the ornament 8. ‘BIFH AT TRR @ 5w e d usr

‘Kokru’ is worn? ST 87
(1) Ear (1) s H
(2) Wrist (2) HaE |
(3) Neck 3 q-l—é:[ 33[
(4) Teeth @ <fq 3

9.  What is the time of the oldest ‘Panchmark’ 9. UHFGH ‘UoArd REel & 999 @

coins? &7
(1) 800B.C.t0500B.C. (1) 800%. g W500%. ¢
(2) 200B.C.t050B.C. (2) 200%. Y, Y50 €, Y,
(3) 400B.C.to 100B.C. @3) 400%. 7 ¥100 7
(4) 600 B.C.t0 200 B.C. @) 600%. T, A200%E, 7,
10- 224 Page 3 of 32




10. How many pages out of 64 pages in “Tyaag 10. “&TT 9" ARYs R ¥9E@R 0 & 64 A
Bhoomi” Hindi newspaper were reserved for o foae T Redl o @Al SRl &
social awareness for women? o aRfgg 9

(1) 50 pages (1) 50 ¥
(2) 28 pages (2) 28 Ul
(3) 10 pages (3) 10 9s
(4) 16 pages @) 16 ST
11. Rajasthan Forestry and Biodiversity Project, 11. SIS/ dif+iesl U e fafdear aRaisr,
Phase —II was funded by - G-I & R GERar Sudel oRar
o] —

(1) Canadian International Development Q) FIEl SRS e ol
Agency ERT

(2) Japan International Co-operation e
Agoncy 2) gmmqm RIS a%mrrq'éaﬁ gol=dl

(3) World Bank @) fea ¥ grT

(4) Asian Development Bank @) TRRA R §% g)

12. The queen of Chandanraj “Rudrani”, who 12. TSRS B T “SEOI @l &R 4
worshiped Lord Mahadev by lighting one qRfed 6 §9R 49 el B WIEH
thousand lamps daily in Pushkar, belonged to qEeq B QU oeal o, 5w 9w @
which dynasty? e off?

(1) Parmar’s of Abu (1) 1Y % TR

(2) Solanki’s of Gujarat (2) ORI et
(3) Kachhawa's of Jaipur (3) SEAR © Gl
(4) Chauhan’s of Shakambhari @) TH= @ A

13. After the registration of “Bharatpur 13. “*RdgR JSAvSE BT USR] HA & 919

Prajamandal”, its name was changed to - DT FH IIEHT I 34T —
(1) Braj Jaya Committee (1) & ST A
(2) Praja Parishad (2) oI uRYg
(3) Bharatpur Praja Parishad (3) ROy Wuil gRyg
(4) Zamindar Kisan Sabha (@) SRR e

14. The text written in the debate style 14. de~faae e ¥ ‘o W o s
‘CHOPRA’ belong to - iR § —

(1) Laldasi Sampradaya (1) TRl TWE™ 9

(2) Ramsnehi Sampradaya (2) IAEE TR ¥

(3) Nishkalank Sampradaya (3) Frspoid THEH g

(4) Nimbark Sampradaya @) e TwEE
10- &4 Page 4 of 32




15.

16.

17.

18.

19.

% 20.

As per 2011 census, which among the 15.

following  district recorded  highest
percentage of urban population?
(1) Jaipur (2) Barmer
(3) Ajmer (4) Kota
River Jakham is a tributary of - 16.
(1) Banganga (2) Anas
(3) Som (4) Kali Sindh

In which book, the description of the war 17.
between Babur’s son Kamran and Bikaner’s
ruler is found?

(1) Rao Jaitsi Ro Chhand

(2) Hala - Jhala -

(3) HariRas

(4) Bhaktmal

Mota Raja married his daughter “Tagat- 18.
Gusai” to which Mughal crown prince?

(1) Salim

(2) Bahadur Shah

(3) Khurram

(4) Sadawat Khan

When did the musical instrument ‘Arabic  19.
Tasha’ included in the military instruments of
Mewar?
(1) After Sanga defeated Babur in the
Battle of Bayana
(2) After Kumbha defeated Mahmud in
the Battle of Sarangpur
(3) After Chunda defeated Jodha in the
Battle of Mandore
(4) After Sanga defeated Ibrahim Lodhi
in the Battle of Khatoli

From which lake of Rajasthan do the 20.
Shyampura and Bhat Canal originates?

(1) Rajsamand

(2) Udaisagar

(3) Jaisamand

(4) Silisedh

2011 &I SFI9FT & R, Fefafa §
I fra e § 8y e o1 g
Haifee IEr?

(1) SrgR (2) TR

(3) FIWR @) P

SIRgA Tl (&% G8II& o) § —

(1) STOR &l 2) M B

(3) |m B (@) Brel R a0
TR & YF BHERM 3N BN WY B qe
IE &1 04 &9 vy § fAoar 2?2

(1) ¥ Siedl I B

(2) ET—3TeT

3) sR &

@) RS

HeT el | SO GE SR — TR B
Rar e gra g ¥ faar?

(1) HeiH

(2) weErgREng

3) g

(4) I<Iad @t

9 99 ARET aRr 998 % G g3 §
we A fhar Tar?

(1) 9T §RT 99F0 & Y& § 9% B
WG & D 915

(2) T ER ARTR & IE # 7598 B
RN R & 919

(3) oSl §RT HSR & qg ¥ il &l
T TR D 9TE

@) W ERI Wl & g A zEed
IET B ORI &R D 919

RS 6 69 e 9wy v wie

T et 87

(1) IR

(2) STOERR

(3) SIO=

@ fefode

i
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21.  Which of the following district is located in  21. Tr=fafga § € s/ WBR W s@ied
Hadoti Plateau? Prer & -
(1) Sirohi {(2) Dholpur 1) R& @) gﬂa-gq
(3) Tonk ) Kota 3) & (@) e
22.  Which of the following is not a type of sand 22, F=faiRed # & @i 1 ¥y <o A
dune, found in western Rajasthan? U W 9T g WU BT UHR T 87
1) Seif (2) Barkhan (V) d% (2) TEH
(3) Bajada (4) Parabolic (3) ToIET @) WEifeE
23. The correct pair of districts having actual 23, we B RUE 2021 & IR, IERAM
maximum forest area (sq. km.) in Rajasthan ¥ grfde wdifte o9 a9wa @ fFa)
as per state forest report 2021 is - qrer forel! &1 T g & —
(1) Udaipur and Alwar (1) SEIYR e e
(2) Udaipur and Pratapgarh 2) SSAR T TS
(3) Alwar and Pratapgarh (3) aiiR T AT
(4) Udaipur and Baran @) SR W@ A
24. Drought Prone Area Programme in Rajasthan 24, RISl # @ GAIAd BRIHH B9 YRAT
was started in - gar &7
(1) 1974-75 @) 1974-75
(2 1977-78 (2) 1977-78
(3 1982-83 (3) 1982-83
(4) 1986-87 @) 1986-87
25. The area around Mt. Abu, having above 25. WiST 37§ & <M, W&l a6 150 4. 4
150 cm. of rainfall, forest are found - ARE &, o Y T T -
(1) Sub-tropical evergreen forest (1) % ST GIEER &
(2) Tropical dry deciduous forest (2) SOTHREENT I TAHE T
(3) Tropical thorn forest (3) SURBRF BICER &
(4) Mixed deciduous forest @) fba wes o
10- 24 Page 6 of 32
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26. Asia’s largest cannon standing on its wheels, 26, <SR & g fivel # ufedl o @<t wfdmy
is in which fort of Rajasthan? T 99 g Qg 27
(1) Achalgarh fort (1) 3ErTe Tf
(2) Nahargarh fort (2) -ETTe E—;f
(3) Jaigarh fort (3) SUTE E’f
(4) Taragarh fort @) aRFTE g
27. Which of the following pair is not correct? 27, Ti=ifaRaa # & 91 |1 g79 W& =81 &7
(1) Chhaparwara lake — Jaipur (1) BRI A — AR
(2) Chhapar Tal lake — Churu (2) e BIR - 6
(3) BalSamand - Rajsamand () 9e HHE -~ NN
(4) Jaisamand —  Udaipur @) I R EREN
28. How many knots are there in the ‘Goga 28. ‘BRI’ FRT &d SOHl 3T &g T @I
Rakhdi’ to be tied when ‘Hali’ starts M EST 9 Ol € S9d fhas i
ploughing? Bdr 8¢
(1) Nine @ =
(2) Five @) dt=
3) Two @) @
(4) Seven @) @
29. The strip of ghungroo is used to wear on 29, W T & @y R A FiRh 9™ @l
ankle at the time of ‘Gair’ dance- Hewnall @ UE B R IR & -
(1) Ramjhol @) T
(2) Rabab ) IRTIC
(3) Changu 3) ir{[
4) Madal @) TS
30. In which year the Directorate of Environment 30, <SI6RRIM 3 TG99 SR We@r] ufRad=
and Climate Change was established in Fregmea & emEr fow af Eg‘?
Rajasthan?
1) 2010 (2) 2018 1) 2010 (2) 2018
(3) 2019 @) 2020 (3) 2019 4) 2020
10- 24 i;age 7 of 32



31. Minimum isolation distance required for 31.
production of foundation seeds of tomato is —
(1) 100m (2) 200m
(3) 300m 4) 500m
32. ‘Durgapura Kesar’ is an important variety 32.
of —
(1) Muskmelon (2) Watermelon
(3) Cucumber (4) Bottle gourd

33. Match List — I with List — II and select the 33.
correct answer by using the code given below
the list —.

List—1I List —II
(A) Manjira (i)  Alphonso x
Banganpalli
(B) Ratna (i) Neelum X
Alphonso
(C) Sindhu (iii) Ratnax
Alphonso
(D) ArkaPuneet (iv) RumaniXx
Neelum
Code -
A B C D
@) iv il it i
(2) iv iii ii i
3) iv il i iii
@ 1 iv iii i

34. Which method of propagtion is commercially  34.
used for mango in North India?
(1) Tongue grafting
(2) Side grafting
(3) Veneer grafting

(4) Cleft grafting

TR B IMR divi & SAEd $ lou
ALIH IETE T & —

(1) 100 #icx (2) 200 AR

(3) 300 Hiex (4) 500 Hiex

Gy BER e Tecaql & 87

(1) TRl (2) g
@) Ex (4) <ien
-1 B @I ¥ gif #IRm sk
iRt 7 R g Ty Bie @ W B wE
JTR YT — -
-1 -1
(A) ol @)  aemEr X
CUERS
(B) o i) Hem x
el
© fog (@) v x
IFETET
©) o T () wAEY X
IS L
PIE —
A B € D
W iv i @ i
@ iv i i i
@ iv i i iii
@ i iv i i
TR 9T ¥ a9 P fov aaifie w9 9
yade & B 1 7 &1 ST feEr smar
2

(D) o™ Hed §usT
(2) IS HEH g8
(3) fafFRR wem du9

@) RN B €A

10- 222 Page 8 of 32
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35. Acid lime is the best indicator for which of 35.

the following disease?
(1) Tristeza
(2) Exocartis
(3) Citrus mosaic
4) Xyloporosis
36. The causes of inflorescence rot in Date palm  36.
is —
(1) Fusarium

(3) Diplodia

(2) Mauginella
(4) Pythium
37. In mango chilling injury take place below - 37.
(1) 0.7°C
2) 0.8°C
(3) 0.9°C
4 o.10°C
38. With Modified Atmosphere Packaging 38.
(MAP) banana can be kept safe for -
(1) 10days
(2) 12 days
(3) 15days

(4) 18 days
39. Which of the following is an orthodox seed?  39.
(1) Ber (2) Jackfruit

(3) Litchi (4) Mango

40. Acidity in squash is - 40.
1) 0.60%
(2) 0.75%
(3) 1-2%
“4) 2-3%

F=ioien 4 9 few 91 & forg i iy

Y AT Ghad &7

() s

(2) TR
(3) wigsH A
@) TEANRIRE

ToR ¥ g faed I B GRS § —

1) =ERTA (2) AR
(3 fewiisyr (4) e
3 e e g & —
(1 0.7°C
2) 0.8°C
3) 0.9°C
@ 0.10°C
FUFGNT qramaRer ST (T § der @l
FEE @ 9% <@ o e § —
) 102
@ 12R=
@) 15 =
4 18 &=
R 4 9 919 & wieaer e 87
(1) & (2) Besa
(3) <=

UMe § T § —

@) s

1) 0.60%
@ 075%
(3) 1-2%
@) 2-3%

o
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41. The major constituent of volatile oil of 41. #FR & dewElie dd & W @Ad

coriander is - ¥

(1) Cuminol O PR

(2) Thiomol @) emEE

(3) Linolin @) SRR

(4 Ujenol @ T

42. Which one of the following brinjal wild 42. = o FrafoRea 4 ¥ <-4 Sl

species is immune to little leaf disease? sofifer IS wehl W7 wfRE 57

(1) Solanum auriculatum (1) e ARpIe

(2) Solanum torvum @) e g

(3) Solanum khasianum (3) S HREFT

(@) Solanum incanum (@) W ST

43. Place of origin of Cinnamon is - 43, <TEERY BT SRy W B —

(1) India (@) W

(2) SriLanka (2) HArcer

(3) China (3 ==

{4) Nepal (4) =urer

44. 'The family of turmeric is - 44. Tl BT HA § —

(1) Apiaceae 1) wigr

(2) Myrtaceae @) TR

(3) Zingiberaceae @) Rt

(4) Fabaceae @)

45. Which crop is a good source of ‘Vitamin ¢’?  45. 5= 4 & Refm 4 f&ad sl 87
(1) Beet leaf (2) Spinach 1) N srEE (2) fdam=:il gres
(3) Femugreek  (4) Amaranthus @) 0 @) =g
10- 244 Page 10 of 32
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After drying the safe moisture percentage in  46.

vegetable seeds is —

gierdi & Il @7 gEm U gReE g
PI AT § —

(1) 8% (2) 10% 1) 8% (2) 10%
(3) 12% “) 9.8% 3 12% @) 9.8%
47.  First preservation industry was establishedin ~ 47. 9Ra # Wem URwemr Sev wenfdq gsmw
India - off —
(1) 1918 @ 1918%
(2) 1920 2) 1920 &
(3) 1922 @) 1922 F
) 1926 @) 1926 ¥
48.  Genetic purity of a variety is confirmed by -~ 48. o5& o e dRiw Fgar &1 yRe € &
(1) TTC test 1) S weor
(2) DUS test (2) Styvy. wWiEor ¥
(3) PET test 3) NS W
(4) MRI test @) TR, TR
49. Tetraploid line of watermelon is produced by 49, TRgW ®! CETAIGE NS ([FdDd AR
application of - g~ i gkl 27
(1) Colchicine ) difeei=
(2) Silver nitrate @) ReR TEde
(3) Ethrel 3) Wi
(4) Calcium chloride P p—
50. A series of arches joined together is known 50. T ¥R e Uil JERET A UH SiEen B
as- Y ST e & —
(1) Pergola (1) carsy
(2) Edging 2) &
(3) Arches @) eE
(4) Drywall @) I AR
10- 24 Page 11 of 32




51. Which of the following is a mutant variety? ~ 51. &= # 9 $9 O SaRafia foer 82
(1) Suvasini (1) garhy
(2) Shewta (2) Z&aT
(3) Shringar (3) =R
(4) Rajat Rekha ( 4) W
52. Which of the following leguminous seed 52. Frfeiad # & 5w welier 9w § yomw
have endosperm as stone of food? Hio & WUSR & WY ¥ BT 27
(1) Fenugreek (1) #Hely
(2) Chickpeas (2) ==
(3) Soybean @) e
" (4) Pigeon pea ( 4)' IR
53. Which of the following rootstock of mangois 53. Fr=faRaa i &« = &1 @9 & qag<
allotetraploid? TAlCaTSS &7
(1) Kurukkan 1) HoHT
(2) Olour 2) 3ielR
(3) Nekkare (3) AT
54. Given below are two statements — 54, & ouw g v & —
Statement—I: Pilu (Salvadora) is an effective HoF—1: U] (HTeareT) e 3l e
for shelterbelts and 3 YT ¥ as el @R
indbreaks in deserts of i * :
WlI.l re: -eses o & R @ B 2
Rajasthan and Gujarat. S 3 B
Statement-II: It makes an excellent food for L e T 9
camels. SR
In light of the above statements, choose the SRIGT Bl @ A, A &4y g
correct answer from the options given below. Rea § 4 |98 SR v |
(1) Both statement I and statement II are 1) HUI-1 3N FIF-1 <HI T &
true
(2) Both statement I and statement I are 2) BFT-IIR FAFT-I S Tera §
false
3) PAA-1H © Wlp B TTerd
(3) Statement I is true but statement I is @) R R 8
false () PU-1IET & Qb BT EeY
(4) Statement I is false but statement IT is 2
true
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55. Which among the following is Not 55. Fw=faRes & ¥ 8= w%“ﬁtr RIDIRES
biochemical changes associated with Reatq B @ gha O Hditg 78 27

ripening of fruits?

(1) Changes in colour @) < % uRad
(2) Changes in flavour (2) 7E% 4 uRagdA
(3) Changes in carbohydrates @) wEErse ¥ uRady
(4) Changes in respiratory rate (@) 9T ) ¥q uRqdq
56. Which is a storage pest of coriander? 56. T & WSRO PiE B AT E?
(1) Coriander aphid 1) sfyer g
(2) White fly ) wie T
(3) Cigarette beetle @) Rite dew
(4) Spittle bug @ e

57. The appropriate weight range of seed Rhizom 57. 3% @ 99 NigGld o 9fUd g 9F0

of Ginger is - qar 8 —
(1) 20-25 gram (1) 20-25 71
(2) 30-35 gram 2) 30-357TH
(3) 40-45 gram 3) 40-459M
(4) 45-50 gram ) 45-50 9

58. Separating the product into different lots is - 58. TG BT TIE W AN T & —

(1) Precooling (1) 99 e
) Grading (2) iR
(3) Sorting @) SeiE

() Waxing @) AR
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59.

60.

61.

62.

63.

Virus free plants in micropropagation can be ~ 59.
obtained through -

(1) Meristem Culture

(2) Callus culture

(3) Embryo culture

(4) Cell culture

Which have colourfull leaves? 60.
(1) Hibiscus
(2) Acalypha
(3) Adenium

(4) Allamanda

TSS on which the micro-organism are not 61.
active -

M) 55%

2) 60%

3) 65%

4) 70%

Gynoecious lines of cucumber are 62.
maintained by induction of male flowers by
the spray of -

(1) Silver nitrate

(2) Naphthalene-3-acetic acid

(3) Ethrel

(4) Maleic Hydrazide

In which of the following plants chip buding  63.

is done?

(1) Rose

(2) Grape

(3) Chinarose
(4) Rubber

geo wade # Rapea O feee awm |
T g ST W 87

1) fovrsdiae HaeH

(2) Do HaEd

() o Haeq

@) ST daea

e uRmt ol se & —

(1) ffewra

(2) STBfeTHT

(3) wsfram

@) IrEnEST

g o verf &t AEr O Wi
wfha T8 <ed —

1) 55%

(2) 60%

(3) 65%

4 70%

R gt BT e BedE gRI Wi B
WR B AR dfaqa) S §91¢ @ Sl
a7

(1) e *gge

(2) “wRiT-3-TRit® aFw

(3) T

@ AT TESTES

frefafag 4 9 fea O § fd sfaers
o TR 87

(1) Terd

2) R

(3) = A

4) TR

10- 22
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64. Little leaf disease of brinjal is caused by - 64. 9T &1 BITT Ui A fHaa wivor gr 87
(1) Bacteria () iarg
(2) Fungus 2) HaD
(3) Mycoplasma (3) HIEHITSH
(4) Virus @) farsmy
65. Pre-cooling temperature recommended for 65. <HEY & fIy reifea gaeiae™ aga
Tomato fruit is - g -
() 12°C @) 12 &0 S
@) 10°C (2) 10 R Afcemw
@) 8C (3) 8 &t afeermw
(4) 14°C @) 14 &0 Afewad
66. Late maturing variety of Ber is - 66. <X BT W Y UH qrell fhw ® —
(1) Gola (2) Seb (1) e @) ¥«
(3) Murdia (4) Umran (3) gﬁ‘ém “4) SRH
67. Pithiness is the physiological disorder of 67. fUimw fFf=fofaa & 9 59 =t @
which one of the following vegetables? IRIRG fAer 87
(1) Tomato (2) Radish (1) eHeR 2) T
(3) Cucumber (4) Sweet Potato 3) &R d) TS
68. Mango fruits are subjected to hot water 68. T HW W Ugel I & Beall Bl fog [T
treatment for the management of which @ YeuE & folv T Wi SUAR & aefe
disease before export? forar wiar &2
(1) Fruit fly (1) w1 Al
(2) Virus (2) I”RE
(3) Anthracnose (3) T
(4) Spongy tissue @) o
69. Which is Dwarfing Root Stock among the 69. =1 % W&y <1 Helg=a & —
following?
@ M—9 ) w-9
@ M-12 @ - 12
@) M-16 () - 16
@ M-27 @ w27
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70. Loss of vigour due to inbreeding is more 70. TASIST B BRO UK BN Har D
visible in - faarg <ar & —

(1) self-pollinated species (1) TRV 91l et
(2) cross-pollinated species 2) - Tt

(3) apomictic species 3) Tiifres wonf

(4) gynodioecious species @) e

71. Blanching is commonly done in fruits and 71. frfeiaa § 3 e Ffdsa o & fau
vegetables to imactivate which of the AAR TR Bl 3R afestdi § sa9aT 3 el
following? 2

(1) Pathogens 1) TSR
(2) Moulds ) @ weew
(3) Micro-organisms 3) i‘i&ﬂ—ﬁﬂﬁ
(4) Enzymes @ TeigA

72. Known as a ‘Retinol’ - 72. &R @ TH 9§ I GRT 8 —
(1) Vitamin A (2) Vitamin C (1) fRef™= T 2) ReEf = @
(3) Vitamin D (4) Vitamin E @3) RefE & @) faef §

73. Match Listd with ListIl and select the 73. @ —1 @ q& —II & gafem @IRY X
correct answer by using the code given below gl & i @y 1Y IS FT AT T 8T
the list — ST AT —

List-1 List-1I chﬁ I -\’fh I
(A) Bael (i)  Veneer grafting (A o G R Bem gud
(B) Papaya (i) Patchbudding ® T @ el B
(C) Mango (iii) Sword sucker (©) =™ (i) AR S RN
(D) Banana (iv) Seed D) e Gv) &
Code - HIE —
(1) A-iii,B-ii, C-iv, D1 (1) A-ii, B-ii, C—iv,D-1
2) A-ii,B—iv,C-i,D-iii @ A-ii,B-iv,C—i,D-iii
3 A-i,B-ii,C-iv,D-ii 3) A~i,B~iii,C~iv,D~1ii
4 A-iv,B—-i,C—ii,D~iii 4 A-iv,B-i,C-ii,D-ii
10- 2% Page 16 of 32
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74. Splitting of the calyx is the biggest problem 74. Holaw e el < 9 87
of -
(1) Gladiolus (1) e
(2) Carnation 2 HFEE
(3) Freesia (3) W
(4) Rose @) @
75. Average Seed production per hectare in 75. B @ ol 9w wwEd oy gECm
Chilli is - g -
1) 10-12kg 1) 10-12fFw
(2) 30-40kg (2) 30-40fFan
(3) 40-60kg (3) 40-60 f&a.
4 50-80kg (4) 5080 f&3T.
76. Which of the following is the quickest 76. HfoRag ¥ & &9 & <iF & &) 99
method of lawn establishment? oer fafer 87
(1) Turf plastering (1) <argor aus
(2) Turfing (2) Tafgor
(3) Dibbling (3) freRmo
@) Seed @ <t
77. Which type of apomixis is found in Apple?  77. 99 # {59 YBR BT AT YRIT ST &7
(1) Recurrent (1) G
(2) Non-recurrent (2) sFEd!
(3) Polyembryony (3) g
(4) Vegetative bulbils @ TR TR
78. Mandore garden is located at - 78. TSR SuM Rem & —
(1) Bhopal (1) «are
(2) Jodhpur ®) W
(3) New Delhi (3) TE feeh
(4) Chennai @) I=E
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This type of seeds are not used in our 79.
country -

(1) Breeder’s Seed
(2) Foundation Seed
(3) Registered Seed
(4) Certified Seed
Which of the following fruit is the richest 80.

source of carbohydrates?

(1) Date palm (2) Bael

(3) Banana (4) Custard apple

The Total Soluble Solids (TSS) of sweet 8l.

orange fruit at maturity is -

TR <9 § 39 YBR D SIall B T Tel
&
Q) usFs 99

(2) IMN €

(3) dSiipa dr
@) vt ¥

frfaiag § § B9 9 5 FEEEsSe 3
T ¥ O 87

(1) T (2) 9

3) Bel @) BT

IRUGEIAT TR AR P Bl BT Gl Yeriehe
a3 (TSS) & —

(1) 10° Brix D 10° 8w
(2) 12° Brix @) 12°fmw
(3) 14° Brix (3) 140@@
4) 16°Brix @) 16° e
Pusa Srijan is a root stock of — ] gord feaT g 87
(1) Sapota (2) Guava 1) e (2) IF5g
(3) Grape (4) Mango (3) AR @) 3
83. Progeny of a single homozygous self- 83. UGA TALWoN WRIRG 9F # Al
pollinated plant is known as - HEAT & —
(1) Pure line 1) gg oA
(2) Inbred line 2) siEysiFa g
(4) Isogenic line @) GEHH e
84. For tuberization, sweet potato requires 84. BAGI & T, AHHE DI fba Hel @
photoperiod of how many hours? YehTIThTel BT ATTIIHaT Bicll &7
Ay 7 @ 9 7 @29
(3) 13 @ 16 3 13 @) 16
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85. The permitted benzoic acid }imit for tomato 85, THIR T 3R T & forg org dulige
puree and paste is - I BT WA & —
(1) 750 ppm (1 750 didie,
(2) 250 ppm (2) 250 qEEH.
(3) 50 ppm (3) 50 qidigs.
(4) 600 ppm @) 600 g,
86. Hiptage benghalensis belongs to which 86. R<W JuriR fFa a9 ddfT 87
family?
(1) Hiptaginaceae ) R
) Malpighi;lceae 2) FraffTeD -
(3) Moraceae (3) Ir=d
(4) Saxifragaceae @) Jfri
87. Which one is monoembryonic citrus 87. Udhenpim +lg ofig MRy o9 @
genotype? a7
(1) Grapefruit (2) Acid lime 1)) 'lj'qu\—d (2) Teer |ig
(3) Sweetorange (4) Pummelo (3) Hawr @) THERT
88.  Seed rate for Carrot seed production is — 88. “oR & 99 IAEH § g & 9 "
g -
(1) 4-5kg/ha. @) 4-5fBI /TR
(2) 7-8kg/ha. () 7-8 %5l /TRW
(3) 8—10kg/ha. (3) 8- 10THIT /FRWR
4) 2-3kg/ha @) 2-37&m /TR
89. Which variety is Polyembroynic? 89. <EYUAT 9l fEE § —
(1) Neleshwar dwarf Q) TR o
(2) Fazli (2) wEel
(3) Neelum Q) HH
(4) Mulgoa @) W
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90.

91.

92.

93.

94,

95.

Which of the following is NOT a growth
retardant of plants?

(1 B-9

(2) Kinetin !

(3) Cycocel

4 AMO-1618

90.

Which one of the following wild species of 91.
tomato is the most important donor for salt
tolerance?

(1) Lycopersicum pimpinellifolium

(2) Lycopersicum hirsutum

(3) Lycopersicum peruvianum

(4) Lycopersicum cheesmanii

Night temperature for development of fruits  92.
in Chilli is —
1) 18°C (2) 25°C
(3) 30°C 4) 32°C
The main feature of geometrical style of 93.
gardening is -
(1) Running water
(2) Waterfall
(3) Hills
(4) Forest area
Benzoic acid is more effective against — 94,
(1) Yeasts (2) Moulds
(3) Bacteria (4) Viruses
Banganapalli X Alphanso is the parents of —  95.

(1) Arka Aruna (2) Arka Anmol

(3) ArkaPuneet (4) Neelum

frferRaa # | o9 dell & gfg sREs
BT

@ -9

2) Bl

(3) wgHIfe

(4) TYH3N. — 1618

feeferRaa # & THIeT &1 Sl TSl o
weadlear & e wew wEwgel &

8 _
(1) @gPaRiET AR

(2) FEPuRiET Bwgen

(3) TSPURIET Yefum™

4) JAEFHERET AHE

fird 4 wal & Remw & fag A 1 awE
g -
(1) 18°C (2) 25°C
3 30°C @) 32°C
wfafe sene delt o e & —
(1) 9gar ol
(2) =T
(3) U=
@ a7 &x
oI o & W It war & —
(1) SR (2) AresH
(3) Sfrarg (4) IR
ST 0cci] X 3IhEl W S e & —
(1) 1%t srEom (2) I S
@) ¥l Tha () Fem

10- ‘amn
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96. Given below are two statements — 96. i & B iU g § —
Statement I: Rooting co-factors occur as BT I 5T UEBRS Uihfas usef & wY
natural substance which 8 & S ol @ Be @ uRkg
appear to act synergistically with B T el vRaltw i @ 9mer
indole acetic acid in promoting TEfree WY ¥ &= udE 2
rooting. #
Statement II: Rooting -cz-faf:tors protect ai;llle o I 7% TEERE o ORI
t tur. u
root in uc.:mg .nat- ; Iy A ey ——
occuring auxin (indole "
. HnE , T B T SMfFT B T BN
acetic acid) from destruction .
. . GEE R
by the enzyme indole acetic ) )
acid oxidase, o ® W fag e
Choose the correct answer from the options Repedt § & e ITR g -~
given below - M) & I R weE 0 <F O
(1) Both statement I and statement II are 8
true (2) w2 I 3R FoN I SN 3R
(2) Both statement I and statement II are g
false (3 T 19« § Al HoF I e
(3) Statement I is true but statement IT is 2
false @ P 17Ad T AT Fo I 9
(4) Statement I is false but statement IT is 2
ture
97. Sugar percent in simple symping in 97. REE<I ¥ WRRT AT § 99 OkEE
canning - Bl & —
1) 50% 1 50%
2) 40% 2) 40%
3) 33% 3) 33%
@) 30% @) 30%
98. Major organic acid present in pomegranate 98. IR H HlS@ W GES A & —
is -
(1) Malic acid (1) Hfers
(2) Citric acid () wiEits o
(3) Tartaric acid (3) <ReR® s/
(4) Acetic acid @) vRfes s
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99, National Research Centre for Seed Spices is 99, §i/ 7Tl & o7y Wiy Sieia= &g Red
located at - g —
(1) Ajmer 1) ISR
(2) Kamal (2) P
(3) Varanasi (3) IRORN
(4) New Delhi @) - Reeh
100. The tangerine flesh colour in tomato is due 100, THIER # & BT B T fpad BROT BT
to - 87
(1) Lycopene pigment 1) aE®EUS I
(2) Carotenoid pigment (2) HREHEE T
(3) Prolycopene pigment 3 TEReIRT I
(4) Quercetin pigment @) FrRARE G
101. Which among the following is a low chilling 101. F/ # ¥ 3F W &4 gadlem e
variety of apple? g7
(1) Parlin’s Beauty (2) Jonafree 1) = E?J;c?[ (2) SFTHT
(3) Freedom (4) Prima (3) wrea (@) yrET
102. Characteristics of superior seed is — 102. ST 47 7 fewar § -
(1) Viability ~ (2) High yield (@) Sfewear @) s ST
(3) Quality (4) Adaptability (3) T (@) sl
103. Which is the main character of Pusa Jwala? ~ 103. U@ Sarell Sfa 1 W fadmar & —
(1) High yield 1) IRF Su
(2) High pungency (2) e e
(3) Long fruit () @ B
{4) Orange colour @) =T
104. Which of the following radish varety 104. fr=foiRea # ¥ o9 & & @ oo @
matures in 25-30 days from sowing? ¥ 25-30 fa=i & uRuag B 27
(1) Pusa Rashmi (1) T A
(2) Pusa Chetki @) T A
(3) Chinese Pink (3) TS R
(4) Scarlet Globe @) ReE
10- 22 Page 22 of 32
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105. “Black Eschiya’ is a variety of — 105. ‘&% sR@ar wifa & —
(1) Grapes (2} Fig @) IR (2) @SR
(3) Mulberry (4) Karonda (3) wEg@ 4) BT
106. Which of the following is a purple flowered 106. F=ifeRaa & | $1 w1 T w1 TreT Yoy
tree? &?
(1) Bauhinia purpurea () et g'\rgﬁfm
() Cassia javanica @ R S
(3) Cassia fistula @) it foegen
(4) Cordia sebestena @) PUSI Hee T
107. Which fruit has not originated from India? ~ 107. I ¥ B0 BT 9Rd & SgH & g 27
(1) Phalsa (2) Bale (1) S ) ¥
(3) Ker (4) Tamarind (3) BN @) sHel
108. Match List — I with List — I and select the 108, ¥@I- I & G-I ¥ g™ ARG iR
correct answer by using the code given below I A T [T TT P BT WG R G
the Lists — I YAY ~
List—1T List - II -1 G-I
(A) Bael (@ 2n=26 (A) (i) 2n=26
(B) Jamun (i) 2n=36 B) wFHE G) 2n=36
(C) Tamarind (iii) 2n0=40 © i i) 2n=40
(D) Fig (iv) 2n=24 ©) s v) 20=24
Code - o —
A B C D A B C D
1) ii iii iv i @) i iii v i
@2 i i iii iv 2 i i iii iv
3 iv i ii iii 3 iv i ii iii
@i i i v @ @ § 1 v
109. Fruit part is necessary in Jam - 109. 39 ¥ Ha BT AT BT TS & —
1) 45% 1) 45%
2) 50% (2) 50%
3) 55% (3) 55%
4) 60% @) 60%
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110. Mound layering is also called - 110. &e TE B T BE §ET B —
(1) Stool layering (1) €3 s[
(2) Air layering ) d9rg T@
(3) Serpentine layering 3) Sffer T
{(4) Tip layering @ o =
111. Isolation distance of Lablab for foundation 111. ¥H & SR ol Seures & fdY gergameom
seed production is — e —
(1) 5m 2) 10m (1) 5 AR (2) 10 Hiex
3 12m @) 14m @) 12 AR @) 14 e
112. Sowing time of Cumin is - 112, ofR 3 ga5 FT 999 ® —
(1) 10-25 October (1) 10-25 3agER
(2) 15-30 November (2) 15-30 -ig=R
(3) 10-20 December (3) 10-20 RE=R
(4) 1-7 January @ 1-7 ST
113. Which of the steroid is found in fenugreek 113, el & €I § I W wIAIS AT Sl
seeds? 04
(1) Solanine 1) e
(2) Sapogenin @) e
(3) Solasodine (3) TrerEE
(4) Diosgenin @) A
114. Which is the part of training and pruning in  114. 3EiEa Uil ¥ Hie-wic 1@ TR F TR
omamental plants? g -
(1) Edging 1) TR
(2) Disbudding @) R
(3) Wintering @) ReRa
(4) Topiary @ e
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115. Mango hybrid which has Alphonso like 115. 3™ & WaHe S+ arelhiar Sy ot 2ar
character but do not suffer from spongy B ofe wWeoll a5 9 I%d 98 =T
tissue - &

(I) Ratna 1) Y=

(2) Mallika () afeer
(3) Sindhu 3 ﬁ_ﬂ_

(4) Pusa Peetamber @ T SR

116. Which wild species of tomato is chilling 116. EHIEX & S W Sivell yoniy gadiaH
tolerant? wfgw] 87
Keh} Lycopersicum cheesmanii 1) a]'ngﬂ'qﬁzﬁq CIRSGIG]]

(2) Lycopersicum pimpinellifolium (2) dEHuRies RifSRmrmifry
(3) Lycopersicum hirsutum () TEBIRIEH fRvges
(4) Lycopersicum pennelli @) wEEaRieT Fread
117. Scientific name of mango ginger is - 117. 4w iR &7 dnfAe -/ & —
(1) Curcuma aromatica 1) TRGT WHEHT
(2) Curcuma angustifolia (2) PRGAT JNREHIferr
(3) Curcuma amada (3) HRGAT AT
(4) Curcuma zedoaria (4) FRGA IR
118. Centre of Excellence of Floriculture in 118, SISRIM # Hel Saredl &% Rod & —
Rajasthan is situated at -

(1) Ajmer (1) PR

(2) Kota (2) ®re

(3) Sawai Madhopur (3) GarE TEgR

) Udaipur @) SR
119. Tuberose is mainly propagated by - 119. &HET 5 Y 9 {59 gw yaiia far

Srar 87

(1) Corms 1) =IHg

(2) Bulbs 2) ®e

{3) Rhizome 3 UFHT

(4) Stem cutting (@) T e
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120. Chromosome number of Brassica oleracea 120. RTHI ARBAT va REE GEieE B
L. var. botrytis is - HIEMEE O & —
1) 2n=14 (1) 2n=14
(2) 2n=16 2 2n=16
(3) 2n=18 3) 2n=18
@) 2n=12 @ 2n=12
121. Aonla variety Kanchan is a chance seedling 121. figan foe wam fFrefafag § 9 et
from which of the following? HieT SigR 37
(1) Banarasi ‘ (2) Chakaiya (1) IR (2) T
(3) Francis (4) Neelam (3) wIEE @) e
122. Which of the foliowing is summer blooming 122, f=ifdifaa # & @i w1 1T § Raer arem
tree having golden yellow coloured flowers? qeT & foras g:\g% Yol 7 B T g &7
(1) Cassia fistula (1) SfRuar feegen
(2) Cassia nodosa 2) SR A
(3) Cassia javanica (3) ST S
(4) Butea monosperma @) ELETIT AR
123. Crossing of F1 with its homozygous recessive  123. I GGG YERIGE] S @ 9ref Fy @l
parent is known as- P B DI BE AR o—
(1) Test cross (1) <&
(2) Back cross (2) 9% Ha
(3) Top cross (3) 0 i
(4) Three way cross @) o wiE
124. Amount of Lycopene in Tomato is - 124. <He} § AFHME Bl § —
(1) 20-50 mg/100 gm Part (1) 20-50 33T /100 UTH AR
(2) 40-80 mg/100 gm Part {2) 40-80 fAwT /100 UTH T
(3) 10-15 mg/100 gm Part (3) 10-15 AT/ 100 I AT
(4) 60-65 mg/100 gm Part ) 60-65 P/ 100 T ART
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125. Plant suitable for hanging basket - 125.  gpercll SIopRAT & forg Sugert de & —
(1) Amaranthus (1) TN
(2) Zinnia ) fSfmEn
4
(3) Portulaca 3) ’Ch':cga’]ﬂ;[
(4) Cosmos (@) FreEE
126. Coriander seed is - 126. oiar dior & —
(1) Caryopsis (1) dRITH
(2) Schizocarp 2) rEEeY
(3) Achene (3) T
(4) Nut 4) FToHA
127. Muskmelon fruit easily separates from the 127. TRIS & Bol oISl S99 W ST § SMAHT
vine with little pressure is referred to as - R ST B S €, P S § —
1) wa Rag g
(1) Fruit slip stage
: (2) o R e
(2) Stem slip stage
(3) Full slip stage 3 B
(4) Half slip stage @) &5 R e
128. Which one of the following vegetableisNOT 128. f=faRad § 9§ 99 & Gssil, B @&l
a fruit? &
(1) Tomato (2) Brinjal (1) AR @) T
(3) Okra (4) Carrot (3) R 4) TSR
129. Which among the following is a non- 129. Fr=faRag # & BT aEpIfFas WY wa
climacteric fruit? 27
(1) Papaya @) gdmar
(2) Strawberry (2) &d
(3 Avocado (3) T
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130. Minimum number of field inspection 130, 9 & WK 4 Seured @ fIT IMIWE
required for foundation seed production of S &5 Bl g £ —
brinjal is —

(1) One ) Two 1) w® @
(3) Three (4) Four @3) dF (4) TR
131. Which of the following statement is NOT 131 odid o 5o @1 71 & forg Fwtfcifam
true for papaya variety Pusa Nanha? F B fﬂ fﬁgﬁ el T &7
(1) SEReds uoFm & "M ¥
(1) Developed through mutation
breeding
(2) Gynodioecious @
(3) Suitable for kitchen gardening (3) WEE qrTEE % g SugaT
(4) Ideal for high density planting (4) 9= T Qo o forg enast
132. Seed rate per hectare of Kasuri methi is - 132, S i o i <% Ui deE § -
1) 5-6kg 1) 5-6T&am.
(2) 6-8kg 2) 6-8fF.
(3) 2-5kg (3) 2-5f&ar
4) 10-12kg 4) 10-12 .

133. Which among following apple variety is 133. Frafafag & 9 o9 @ 39 9 5w @y
resistant to scab and powdery mildew AR gfie Ry 97 TR 87
diseases?

(1) Top Red (2) Red Free (1) €T s (2) XS W
(3) McIntosh (4) Red Chief 3) AR @) ¥ 9%
134. Tuber growth is stopped in Potato - 134. e # T8 P Iy OB Wl € —
(1) on26°C (2) on 28°C (1) 26°C W (2) 28°CwR
(3 on 30°C 4) on32°C (3) 30°Cw® 4) 32°CWR®

135. The flower diameter of show singles Dahlia 135. W Riew s2fern g9 &1 sBR 8.
is - -

1 75cem (1) 7.594

(2) 85cm 2) 859

@3 11.5cm @) 1153

4) 12.5cm @ 12593
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136.

Rose formed by the crossing of TeaRoseand  136.

& Tere Ud sRie Tgead & e 9§

Hybrid perpetual - T Telig —
(1) Hybrid Tea Q) =i &
(@) Chinese Rose (2) TS T
(3) Floribunda @) TR
(4) Musk Rose @) 5 e
137. Bougainvillea belongs to which of the 137. SRR Frafaftaa ¥ @ 5w aa &
following families? HeferT 87
(1) Euphorbiaceae ) 'ac"q-ﬁirfa'qqﬂ
(2) Nyctaginaceae ) P
(3) Malvaceae (3) e
(4) Asteraceae @) TR
138. Which wild species of brinjal is resistant to 138, &7 @ $F W7 Sl YT o 6 B
shoot and fruit borer? vag @ fay wioRe 87
(1) Solanum khasianum (1) IAFE SR
(2) Solanum sisymbriifolinm @) | RaREEREE
(3) Solanum incanum 3) | ST
(4) Solanum torvum @) | Eﬁ?gﬂ
139. Pusa KTS-1is a variety of - 139, @1 SATE~1 U e & —
(1) Cabbage (2) Cauliflower @) vt (2) wErIr
(3) Broccoli (4) Knot khol (3) sidoll (4) vife
140. The percentage of muskmelon cultivars 140. WRESl 6 UYog HaR [H D ¥
Punjab Hybrid is - -
(1) ms - 1 x Durgapura Madhu (1) T T - 1 x TR 7Y
(2) ms -2 x Hara Madhu 2) T U -2 &R 9
(3) ms - 1 x Hara Madhu (B) T T - 1T Y
(4) ms - 2 x Durgapura Madhu @) T T - 2 x g Ay
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141.

Wrapping polythene strip on the stem isused  141.

T R dieliels & uedl aeex fBa BT

to control which insect? ot e fear omer 87
(1) Drosicha mangiferae @) Sifkwsr Flim
(2) Chlumetia transversa 2) —qﬂe{m <Taad!
(3) Batocera rufomaculata 3) JeRT m
(4) Eublemma versicola @) W T
142. Yellow colour of onion is due to - 142. s &7 G 7 3T § —
(1) Anthocyanin (1) TR |
(2) Quercetin ) FRIAET o
(3) Chlorophyll (3) TR |
(4) Carotene @ FNET J
143. 'Which flower is known as an African Daisy? 143. ®IF—41 el IMHIGT Soil @& W4 F ol
ST 87
(1) Tuberose 1) T
(2) Carnation (2) HFIA
(3) Gerbera (3) R
(4) Gladiolus @ ey
144. Which one is an F; hybrid varety of 144. RS @I P&t 5w o A 87
watermelon?
(1) Durgapura Kesar W m P
(2) Arka Jyoti @) st i
(3) Asahi Yamato (3) s AN
(4) Sugar Baby @ TR Ll
145. Which is F1 hybrid variety? 145. =1 & vo-1 wsfie fae & —
(1) Punjab komal (1) HTS PR
(2) Pusa Naveen @) TH A
(3) Pusa Meghdoot (3) qar W
(4) Arka Bahar (4) @i TER
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146. Mutation that occurs in natural population of 146, 99 BN 1 e SueR @ wssh &)
vegetable crop without any treatment by man Bl B WHlds waer ¥ 8 g
is known as ~ SAReaT o weg § —

(1) Induced mutation M) ¥R saRady
{2} Spontaneous mutation (2) Ges SuRad
(3) Somatic mutation () s SuRad
(4) Cytoplasmic mutation @) PR ey R

147. The transferring of young seedlings into 147. Jar ¥ & TR TR A WRIFGRT He

another bed is termed as - BEAET & —
(1) Hardening off 1) TR
(2) Pricking 2) S
(3) Thinning (3) Relswr
(4) Nicking @) @y

148. Botanically the Mullberry fruit is — 148. &S &1 Bl IEAAS BY § & —
(1) Berry (2) Drup (1) s @ =T
(3) Sorosis (4) Pome (3) SR 4 9

149.  ‘Which one is NOT a nutritional disorder of 149. @ W7 Wfor} @ uiyor Geefl fAwr &
vegetables? 27
(1) Cavity spot (2) Cat face 1) Sfad) wie 2) HTBg
(3) Brown rot (4) Whiptail (3) T e @) ferea

150.  Male flowers in the female line of cucumber 150. W7 31 A&7 T # R %ot fres gvT A
are suppressed by — &7
1) GA7 (2) Ethephon @ shv7 (2) QB
(3) Silver nitrate (4) GA4 Q@) ReR e @) shv4

okl ek ok sk
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